
Ap
ril



April 2024

RODRUNNER REF NO: TC-BU-1008 ADAPTABLE BUICK

Lateral Arm

Weight: 0,71

LACROSSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2017- Rear Right
Upper

84131343

Length: 365

RODRUNNER REF NO: TC-BU-1008 ADAPTABLE BUICK

Lateral Arm

Weight: 0,71

REGAL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

6th Gen 2018- Rear Right
Upper

84131343

Length: 365

www.rodrunnerparts.com 1



April 2024

RODRUNNER REF NO: TC-BU-1008 ADAPTABLE BUICK

Lateral Arm

Weight: 0,71

ENVISION

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Rear Right
Upper

84131343

Length: 365

RODRUNNER REF NO: TC-BU-1008 ADAPTABLE CADILLAC

Lateral Arm

Weight: 0,71

XT4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st gen 2019- Rear Right
Upper

84131343

Length: 365

www.rodrunnerparts.com 2



April 2024

RODRUNNER REF NO: TC-BU-1009 ADAPTABLE BUICK

Lateral Arm

Weight: 0,71

LACROSSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2017- Rear Left
Upper

84131342

Length: 365

RODRUNNER REF NO: TC-BU-1009 ADAPTABLE BUICK

Lateral Arm

Weight: 0,71

REGAL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

6th Gen 2018- Rear Left
Upper

84131342

Length: 365

www.rodrunnerparts.com 3



April 2024

RODRUNNER REF NO: TC-BU-1009 ADAPTABLE BUICK

Lateral Arm

Weight: 0,71

ENVISION

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Rear Left
Upper

84131342

Length: 365

RODRUNNER REF NO: TC-BU-1009 ADAPTABLE CADILLAC

Lateral Arm

Weight: 0,71

XT4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st gen 2019- Rear Left
Upper

84131342

Length: 365

www.rodrunnerparts.com 4



April 2024

RODRUNNER REF NO: TC-BU-268 ADAPTABLE BUICK

Lateral Arm

Weight: 0,664

ENCLAVE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Rear Lower 84354706

Length: 379

RODRUNNER REF NO: TC-BU-268 ADAPTABLE CADILLAC

Lateral Arm

Weight: 0,664

XT6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2020- Rear Lower 84354706

Length: 379

www.rodrunnerparts.com 5



April 2024

RODRUNNER REF NO: TC-BU-268 ADAPTABLE CADILLAC

Lateral Arm

Weight: 0,664

XT5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2017- Rear Lower 84354706

Length: 379

RODRUNNER REF NO: TC-BU-268 ADAPTABLE CHEVROLET

Lateral Arm

Weight: 0,664

BLAZER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2018- Rear Lower 84354706

Length: 379

www.rodrunnerparts.com 6



April 2024

RODRUNNER REF NO: TC-BU-268 ADAPTABLE CHEVROLET

Lateral Arm

Weight: 0,664

TRAVERSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Rear Lower 84354706

Length: 379

RODRUNNER REF NO: TC-CH-1328 ADAPTABLE BUICK

Control Arm and Ball Joint

Weight: 4,79

ENCLAVE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Front Right
Lower

84263008

Length: 412,3 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CD-1004 Ball Joint Front Lower 84722072*, 84722073*

www.rodrunnerparts.com 7



April 2024

RODRUNNER REF NO: TC-CH-1328 ADAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 4,79

TRAVERSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Front Right
Lower

84263008

Length: 412,3 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CD-1004 Ball Joint Front Lower 84722072*, 84722073*

RODRUNNER REF NO: TC-CH-1329 ADAPTABLE BUICK

Control Arm and Ball Joint

Weight: 4,79

ENCLAVE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Front Left
Lower

84263009, 85117101

Length: 412,3 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CD-1004 Ball Joint Front Lower 84722072*, 84722073*

www.rodrunnerparts.com 8



April 2024

RODRUNNER REF NO: TC-CH-1329 ADAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 4,79

TRAVERSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Front Left
Lower

84263009, 85117101

Length: 412,3 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CD-1004 Ball Joint Front Lower 84722072*, 84722073*

RODRUNNER REF NO: LS-CR-456 ADAPTABLE CHRYSLER

Stabilizer Bar Link

Weight: 0,478

PACIFICA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

MINIVAN 2016- Front 68313384AA

Length: 334 Bolt Metric: M12X1,75

www.rodrunnerparts.com 9



April 2024

RODRUNNER REF NO: LS-CR-456 ADAPTABLE CHRYSLER

Stabilizer Bar Link

Weight: 0,478

VOYAGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

6th Gen 2020- Front 68313384AA

Length: 334 Bolt Metric: M12X1,75

RODRUNNER REF NO: LS-DO-416K ADAPTABLE DODGE

Stabilizer Bar Link Kit

Weight: 0,864

DURANGO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2011- Front 68280910AD

Length: 125 Bolt Metric: M14X1,5

Standard Suspension

YEAR ONLY
2017-2021

www.rodrunnerparts.com 10



April 2024

RODRUNNER REF NO: LS-DO-416K ADAPTABLE JEEP

Stabilizer Bar Link Kit

Weight: 0,864

GRAND CHEROKEE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

WK2 2011-2021 Front 68280910AD

Length: 125 Bolt Metric: M14X1,5

Standard Suspension

RODRUNNER REF NO: LS-DS-106 ADAPTABLE DS

Stabilizer Bar Link

Weight: 0,292

5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2011-2018 Rear 5178,57

Length: 178 Bolt Metric: M10X1,5

Trim Level: HYBRID4

www.rodrunnerparts.com 11



April 2024

RODRUNNER REF NO: LS-DS-106 ADAPTABLE PEUGEOT

Stabilizer Bar Link

Weight: 0,292

508

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W23 2010-2018 Rear 5178,57

Length: 178 Bolt Metric: M10X1,5

Trim Level: HYBRID4

RODRUNNER REF NO: LS-DS-106 ADAPTABLE CITROEN

Stabilizer Bar Link

Weight: 0,292

DS5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2011-2018 Rear 5178,57

Length: 178 Bolt Metric: M10X1,5

Trim Level: HYBRID4

www.rodrunnerparts.com 12



April 2024

RODRUNNER REF NO: BJ-DS-114 ADAPTABLE DS

Ball Joint

Weight: 0,776

4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2021- Front 9837338980

Length: 103 Bolt Metric: M14X1,5

RODRUNNER REF NO: BJ-FO-1284 ADAPTABLE FORD

Ball Joint

Weight: 0,516

BRONCO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 1980-1996 Front Upper K8412T, E0TZ3049B, E3TZ3049B

Length: 107 Bolt Metric: 5/8"18 UNF 2A

4WD / USA Market

www.rodrunnerparts.com 13



April 2024

RODRUNNER REF NO: BJ-FO-1284 ADAPTABLE FORD

Ball Joint

Weight: 0,516

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UN46 1991-1994 Front Upper K8412T, E0TZ3049B, E3TZ3049B

Length: 107 Bolt Metric: 5/8"18 UNF 2A

4WD / USA Market

RODRUNNER REF NO: BJ-FO-1284 ADAPTABLE FORD

Ball Joint

Weight: 0,516

F-100

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen 1980-1983 Front Upper K8412T, E0TZ3049B, E3TZ3049B

Length: 107 Bolt Metric: 5/8"18 UNF 2A

4WD / USA Market

www.rodrunnerparts.com 14



April 2024

RODRUNNER REF NO: BJ-FO-1284 ADAPTABLE FORD

Ball Joint

Weight: 0,516

F-150

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen 1980-1986 Front Upper K8412T, E0TZ3049B, E3TZ3049B

Length: 107 Bolt Metric: 5/8"18 UNF 2A

4WD / USA Market

RODRUNNER REF NO: BJ-FO-1284 ADAPTABLE FORD

Ball Joint

Weight: 0,516

RANGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1983-1992 Front Upper K8412T, E0TZ3049B, E3TZ3049B

Length: 107 Bolt Metric: 5/8"18 UNF 2A

4WD / USA Market

www.rodrunnerparts.com 15



April 2024

RODRUNNER REF NO: AJ-LA-283 ADAPTABLE LAND ROVER

Tie Rod

Weight: 0,726

DEFENDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L663 2020- Front LR129168

Length: 300 Bolt Metric: M16X1,5 Housing Metric: M18X1,5

RODRUNNER REF NO: AJ-LA-283 ADAPTABLE LAND ROVER

Tie Rod

Weight: 0,726

DISCOVERY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L462 2016- Front LR129168

Length: 300 Bolt Metric: M16X1,5 Housing Metric: M18X1,5

Trim Level: M16

www.rodrunnerparts.com 16



April 2024

RODRUNNER REF NO: BJ-LX-364 ADAPTABLE LEXUS

Ball Joint

Weight: 1,192

LS400

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XF20 1995-2000 Front Right
Lower

4333059036

Length: 125 Bolt Metric: M16X1,5

YEAR ONLY
1995-1997

RODRUNNER REF NO: BJ-LX-365 ADAPTABLE LEXUS

Ball Joint

Weight: 1,192

LS400

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

F2 1995-2000 Front Left
Lower

4334059036

Length: 125 Bolt Metric: M16X1,5

YEAR ONLY
1995-1997

www.rodrunnerparts.com 17



April 2024

RODRUNNER REF NO: AJ-M-113 ADAPTABLE MERCEDES

Tie Rod

Weight: 0,708

SL-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

R232 2022- Front 2324605800

Length: 260 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

RODRUNNER REF NO: TC-M-1228 ADAPTABLE MERCEDES

Control Arm

Weight: 6,296

GLE-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W167 2019- Front Right
Lower

A1673309401, 1673309401

Length: 426

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS332
Control Arm

Bushing
Front Lower

Outer
A1673309401*, 1673309401*,
A1673309301*, 1673309301*

BC-ME-BS334
Control Arm

Bushing
Front Lower

Inner
A1673309401*, 1673309401*,
A1673309301*, 1673309301*

AMG Type

www.rodrunnerparts.com 18



April 2024

RODRUNNER REF NO: TC-M-1228 ADAPTABLE MERCEDES

Control Arm

Weight: 6,296

GLS-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X167 2020- Front Right
Lower

A1673309401, 1673309401

Length: 426

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS332
Control Arm

Bushing
Front Lower

Outer
A1673309401*, 1673309401*,
A1673309301*, 1673309301*

BC-ME-BS334
Control Arm

Bushing
Front Lower

Inner
A1673309401*, 1673309401*,
A1673309301*, 1673309301*

RODRUNNER REF NO: TC-M-1229 ADAPTABLE MERCEDES

Control Arm

Weight: 6,296

GLE-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W167 2019- Front Left
Lower

A1673309301, 1673309301

Length: 426

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS332
Control Arm

Bushing
Front Lower

Outer
A1673309401*, 1673309401*,
A1673309301*, 1673309301*

BC-ME-BS334
Control Arm

Bushing
Front Lower

Inner
A1673309401*, 1673309401*,
A1673309301*, 1673309301*

AMG Type

www.rodrunnerparts.com 19



April 2024

RODRUNNER REF NO: TC-M-1229 ADAPTABLE MERCEDES

Control Arm

Weight: 6,296

GLS-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X167 2020- Front Left
Lower

A1673309301, 1673309301

Length: 426

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS332
Control Arm

Bushing
Front Lower

Outer
A1673309401*, 1673309401*,
A1673309301*, 1673309301*

BC-ME-BS334
Control Arm

Bushing
Front Lower

Inner
A1673309401*, 1673309401*,
A1673309301*, 1673309301*

AMG Type

RODRUNNER REF NO: BC-ME-BS332 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,48

GLE-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W167 2019- Front Lower
Outer

A1673309401*, 1673309401*,
A1673309301*, 1673309301*

Length: 80

AMG Type

TC-M-1228 Control Arm
Front Right

Lower
A1673309401, 1673309401

TC-M-1229 Control Arm
Front Left

Lower
A1673309301, 1673309301

www.rodrunnerparts.com 20



April 2024

RODRUNNER REF NO: BC-ME-BS332 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,48

GLS-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X167 2020- Front Lower
Outer

A1673309401*, 1673309401*,
A1673309301*, 1673309301*

Length: 80

AMG Type

TC-M-1228 Control Arm
Front Right

Lower
A1673309401, 1673309401

TC-M-1229 Control Arm
Front Left

Lower
A1673309301, 1673309301

RODRUNNER REF NO: BC-ME-BS334 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,48

GLE-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W167 2019- Front Lower
Inner

A1673309401*, 1673309401*,
A1673309301*, 1673309301*

Length: 80

AMG Type

TC-M-1228 Control Arm
Front Right

Lower
A1673309401, 1673309401

TC-M-1229 Control Arm
Front Left

Lower
A1673309301, 1673309301

www.rodrunnerparts.com 21



April 2024

RODRUNNER REF NO: BC-ME-BS334 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,48

GLS-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X167 2020- Front Lower
Inner

A1673309401*, 1673309401*,
A1673309301*, 1673309301*

Length: 80

AMG Type

TC-M-1228 Control Arm
Front Right

Lower
A1673309401, 1673309401

TC-M-1229 Control Arm
Front Left

Lower
A1673309301, 1673309301

RODRUNNER REF NO: TC-MI-738 ADAPTABLE MITSUBISHI

Control Arm

Weight: 3,9

LANCER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

9th Gen 2008-2017 Front Right
Lower

4013A444, 1612753580

Length: 374,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MI-734 Ball Joint Front
4013A443*, 1612753380*,

4013A444*

BC-SB 368
Control Arm

Bushing
Center

4013A010*, 4013A282*,
4013A009*, 4013A009*

www.rodrunnerparts.com 22



April 2024

RODRUNNER REF NO: TC-MI-738 ADAPTABLE MITSUBISHI

Control Arm

Weight: 3,9

ASX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GA 2011- Front Right
Lower

4013A444, 1612753580

Length: 374,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MI-734 Ball Joint Front
4013A443*, 1612753380*,

4013A444*

BC-SB 368
Control Arm

Bushing
Center

4013A010*, 4013A282*,
4013A009*, 4013A009*

Construction Year
from: 04.2014

RODRUNNER REF NO: TC-MI-739 ADAPTABLE MITSUBISHI

Control Arm

Weight: 3,9

LANCER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

9th Gen 2008-2017 Front Left
Lower

4013A443, 1612753380

Length: 374,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MI-734 Ball Joint Front
4013A443*, 1612753380*,

4013A444*

BC-SB 368
Control Arm

Bushing
Center

4013A010*, 4013A282*,
4013A009*, 4013A009*

Construction Year
from: 12.2013

www.rodrunnerparts.com 23



April 2024

RODRUNNER REF NO: TC-MI-739 ADAPTABLE MITSUBISHI

Control Arm

Weight: 3,9

ASX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GA 2011- Front Left
Lower

4013A443, 1612753380

Length: 374,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MI-734 Ball Joint Front
4013A443*, 1612753380*,

4013A444*

BC-SB 368
Control Arm

Bushing
Center

4013A010*, 4013A282*,
4013A009*, 4013A009*

Construction Year
from: 04.2014

RODRUNNER REF NO: TR-O-1021 ADAPTABLE DS

Tie Rod End

Weight: 0,496

3 CROSSBACK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Front Right 1648322580

Length: 150 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

Construction Year
from: 12.2013

www.rodrunnerparts.com 24



April 2024

RODRUNNER REF NO: TR-O-1021 ADAPTABLE OPEL

Tie Rod End

Weight: 0,496

MOKKA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2020- Front Right 1648322580

Length: 150 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

RODRUNNER REF NO: TR-O-1022 ADAPTABLE DS

Tie Rod End

Weight: 0,496

3 CROSSBACK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Front Left 1648322680

Length: 150 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

www.rodrunnerparts.com 25



April 2024

RODRUNNER REF NO: TR-O-1022 ADAPTABLE OPEL

Tie Rod End

Weight: 0,496

MOKKA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2020- Front Left 1648322680

Length: 150 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

RODRUNNER REF NO: TC-P-1108 ADAPTABLE PEUGEOT

Lateral Arm

Weight: 0,8

508

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

R83 2018- Rear Upper 9810083680

Length: 440

www.rodrunnerparts.com 26



April 2024

RODRUNNER REF NO: TC-P-1108 ADAPTABLE DS

Lateral Arm

Weight: 0,8

7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J 2017- Rear Upper 9810083680

Length: 440

RODRUNNER REF NO: TC-R-938S ADAPTABLE RENAULT

Control Arm

Weight: 5,104

ESPACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V 2015- Front Right 545047275R

Length: 298

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1023
Control Arm

Bushing
Front Lower

Inner
545045297R*, 545057449R*,
545047275R*, 545050303R*

BC-SB 1083
Control Arm

Bushing
Front Outer 545047275R*, 545050303R*

www.rodrunnerparts.com 27



April 2024

RODRUNNER REF NO: TC-R-938S ADAPTABLE RENAULT

Control Arm

Weight: 5,104

TALISMAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2015- Front Right 545047275R

Length: 298

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1023
Control Arm

Bushing
Front Lower

Inner
545045297R*, 545057449R*,
545047275R*, 545050303R*

BC-SB 1083
Control Arm

Bushing
Front Outer 545047275R*, 545050303R*

RODRUNNER REF NO: TC-R-939S ADAPTABLE RENAULT

Control Arm

Weight: 5,104

ESPACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V 2015- Front Left 545050303R

Length: 298

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1023
Control Arm

Bushing
Front Lower

Inner
545045297R*, 545057449R*,
545047275R*, 545050303R*

BC-SB 1083
Control Arm

Bushing
Front Outer 545047275R*, 545050303R*

www.rodrunnerparts.com 28



April 2024

RODRUNNER REF NO: TC-R-939S ADAPTABLE RENAULT

Control Arm

Weight: 5,104

TALISMAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2015- Front Left 545050303R

Length: 298

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1023
Control Arm

Bushing
Front Lower

Inner
545045297R*, 545057449R*,
545047275R*, 545050303R*

BC-SB 1083
Control Arm

Bushing
Front Outer 545047275R*, 545050303R*

RODRUNNER REF NO: TC-T-118 ADAPTABLE TOYOTA

Lateral Arm

Weight: 1,096

4RUNNER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

N280 2010- Rear 4883060060

Length: 199,1

Link/Coupling Rod

www.rodrunnerparts.com 29



April 2024

RODRUNNER REF NO: TC-T-118 ADAPTABLE TOYOTA

Lateral Arm

Weight: 1,096

LAND CRUISER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J200 2008- Rear 4883060060

Length: 199,1

Link/Coupling Rod

RODRUNNER REF NO: TC-V-1078 ADAPTABLE VOLKSWAGEN

Lateral Arm

Weight: 0,72

ID.3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

E11 2020- Rear Lower
Forward

1EA505291A

Length: 311,6

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-VW-BS179
Lateral Arm

Bushing
Rear Lower

Forward
1EA505291A

www.rodrunnerparts.com 30



April 2024

RODRUNNER REF NO: TC-V-1078 ADAPTABLE VOLKSWAGEN

Lateral Arm

Weight: 0,72

ID.4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

E21 2021- Rear Lower
Forward

1EA505291A

Length: 311,6

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-VW-BS179
Lateral Arm

Bushing
Rear Lower

Forward
1EA505291A

RODRUNNER REF NO: BC-VW-BS179 ADAPTABLE VOLKSWAGEN

Lateral Arm Bushing

ID.3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

E11 2020- Rear Lower
Forward

1EA505291A

TC-V-1078 Lateral Arm
Rear Lower

Forward
1EA505291A

www.rodrunnerparts.com 31



April 2024

RODRUNNER REF NO: BC-VW-BS179 ADAPTABLE VOLKSWAGEN

Lateral Arm Bushing

ID.4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

E21 2021- Rear Lower
Forward

1EA505291A

TC-V-1078 Lateral Arm
Rear Lower

Forward
1EA505291A

www.rodrunnerparts.com 32


